Pre-Calculus 12

9.3 - Reciprocal and Quotient Identities

Name:
Block:

A trigonometric identity is a statement that relates trig ratios, and is true for all values of the variable
for which the trig ratios are defined.

e.g. sinfcscH =1 is an identity because it is true for all values of 6 (except where csc6 is undefined)

T
sinfsec@d =1 is not an identity because it is only true for 6 =

44

A trig identity can be verified by substituting a value for the variable. This shows that an identity is true
for specific values, but does not prove the identity is true for all values.

To prove an identity is true, it must be shown that one side of the equation is equal to the other, or that
both sides are equal to the same expression.
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